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GENER (L INSTR UCTIONS ",
= v : : ecfrucrions carcfiid m !
fallowing Insir aw (e s
Read /7 ction paper contains ISR All questio™ r;czmi";:ﬂ
T paper is divided into FIP “section Ay 5 % :
- : _ question number I " ltiple choice questions (MCQs) and
l.'.t-t'nﬂ" . i s M hﬂ.ﬁ-ed qﬂﬁ‘iﬂm aff mﬂrk eﬂﬂh‘

E s SHHON rmmht‘r* 19 ﬂﬂ'd 20 are

- i sReasol
n B — question number 21

e Irf"r:r

skl short Answer (VSA) type questions

1y seCie

1 . T**u”'ﬂ'_f :"ﬂ(‘.’l‘.

cection € = question number 26
; -. ing 3 marks each. _

Answer (SA) type questions

31 are Short
Long Answer (LA) type questions

:':i_-l _ﬁ.'f't'.fr".ﬂ” 1§ q“ﬂﬂiﬂ" HHMM 1! 5 are
1 ’. e avilly 5 F"ﬂf'k.f Eﬂfﬁ'. i; '
In sect ¢ based integrated units of

y 38 are €as

! choice is provided in 2 marks

vai) AN secnion B = quﬂﬂfﬂﬂ Hﬂ'mber.;

7 Jﬁ_‘,‘f_;n:u::r qﬂﬂ.ﬂfﬂﬂs fﬂﬂ}"fng ‘ ; ,.
question in each case-study. 3

) There is no overall choice. Howe

‘FIIL',\'H"{?I?.F in Section B ’ 2 quesnons

guestions in Section E.
) Draw neat figures wherever required. Take = = 22/7 wherever required if not stated.
Lse of calculators is NOT allowed.
it £
SECTION - A
Section - A consists of Multiple Choice type questions of 1 mark each.

h. Interna

e an i al choice has been provided in 2
Skt ions in Section D and 3

:i
Section C, 2 quest
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1. The pair of linear equations 2x =5y + 6 and 15y = 6x — 18 represents
two lines which are : g i 1
(a) intersecting - (b) parallel
(c) coincident () cither intersecting or parallel
2. In the given figure, TA is @ h“i the circle with centre O such |
that OT =4 cm, ZOTA = s%,._,g ngth of TA is : 1
(a) 2v3 cm " '~ |
(b) 2cm 3
(C) 2\/5 cm {8
(@) ﬁ _ J 4_
3. The ratio of HCF to LCM of the least composite number and the least
prime numberis: o 1
(a) 1:2 (6) A ) 1:! (d) 1:3
d It a pole 6 m high r ' shadow 23 m long on the ground, then
sun’s elevationis: | 1
30/4/3 . &
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In the F“"’“ ||Rl|m AAB:: | t.:' (‘ (y CIN, H{r o 5 cml ‘
QR = 3 cm and PR = x; then | of x 18
(a) 3.6cm (b) 2.5€¢ (g) 10cm (d) 3.2¢em .
& The distance of the pomt (- 5, 8) 1 |.;_|II I
- (b) =6 ‘? (@) 10
}‘,f The next term of the AP, 7, ,,_-5'L-f'3'i (63 i :
@ v ® SO 7 @ Jinz
8 (sec 0~ 1)(cosec ‘0~ 1)iscqualto: 1
' @) -1 (b) 1 SEEE) 0 (d) 2
o Two dice are thrown together. The probability of getting the .
difference of numbers on their upper faces Lquuls o318
l 2 ¥ B oK
Uﬂ '{_j. (b) -9- '! Il'i 6 (d) 12
10" A card is drawn at random from a well-shuffled pack of 52 cards. The
probability that the card drawn i not an acc 1§ : 1
| 9 . 4 12
@ 73 ® 13 © 33 @ 13
/ The roots of the eqymﬁoﬁ s v =0 are: 1
@"2,-5 (Ol © 2,5 (d) -2,-5
If «, [} are zeroes of M- | then value of (& + [5) 1s : b 1
(8) 2 (b) ._,ﬂ' | (c) - (@) 0 2
13 1f o, pare the zeroes of the polynomial p(x) = 4x* ~ 3x 7, then (]
P )
[E+EJ Iscqualt:r 1 1
7 g 3 ' al
® 3 ) (€) 5 (D) re sl
" \ gl
‘1/4( What is the area of a sen diameter ‘e | 1
| oA v AF _1.'
() ﬁzdz b) (ﬂ') w ( nd" i
30/4/3 '
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' For the fﬂllﬂ“mg distnby
T

v{arks Below m

~umber of Students ‘5 = | 75 | 80
::-:1.11 class is: " 1
@) 1020 NI 3040  (d) 50-60
In the given fEUIS PTisa S the circle with centre O.If
.m. _TpO = 25", then XIS equa i 1
¢) 90° ‘
17. In the given figure, PQ“ -1 AP=24cmand 5
BQ =35 cm, then lengthof
(a) 8 cm e
(b) 3cm Q
S
(c) 03cm R
25 4 cm
(d) -‘:3—“ cm P B
18.” The points (— 4, 0), (4, 0) a e vertices of a: 1
7 (a) right triangle : isosceles triangle
(c) equilateral tmmgle scalene triangle
DIRECTIONS : In the g ber 19 and 20, a statement of
Assertion (A) is followed ent of Reason (R). Choose the
correct option out of the f-_ P
’y/&ssemon (A) : The probs eap year has 53 Sundays 1s 7
b F iEs
Reasun(R):]he n-leap year has 53 Sundays is 7 1
(a) Both Assertion | { (R) are true and Reason (R) is
the correct eXr * : n(A)'
(b) BothAssuﬁmi‘. (R)_areu'ueandReamn(R)is
not the correct € B '_ _0“ (A).
(¢) Assertion (A); L ; ) - false.
n (R) is true. L

(d) Assertion (A) iS

23 [PTO.
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22. (A) Evaluate 2sec’0+ ;h .

#

24.

e

Section - C consists of Sll"'"

26.

Section
marks cach. |
(A) Find the sum and

3:\;:-- Ox +4-0' T

2.

(

l”

(B) Find the discriminar
hence comment on the

one head’.

Two numbers are in the 1
ICF of these numbers 72

. If one zero of the polyno
of the other, then find th

Fiqd the value of ‘p’ |
pX~ 14x + 8 =0 is 6 tim

« From an external p !:"'

o i i i
the line joining the ex
angle between the two

"
}H-/ Two concentric circle

the chord of the Iz

Asserfion (A):a, b, ¢ o
Reason (R) The sum {.-
q) Both Assertion (
the correct explanati
(b) Both Assertion (Aj
not the correct ¢
Assertion (A) is ¢ |
(d) Assertion (A) 18 fﬁl "

_ B consists of Very §|
s

:
T
of L1 if2b =a+c.
Bnly if 2b=a "¢
ral numbers 18 0.

) are true and Reason (R) 18

: ;::L irue and Reason (R) 18
rtion (A)-
R) 15 false.
R) 15 (rue.

(VSA) type questions of 2

1 of the quadratic equation

i
[}
L )

ic equation 4x*~5=0and
ots of the equation.

10cos 0 if 0 = 45°.

(B) IfsinB —-cosB= 0’
23 If a fair com 18 1

Alue of sin' 0 + cos* 0.
he probability of getting ‘atmost

d their LCM is 180. What is the
5x” + 37x — (k = 2) is mciy&énl

) type questions of 3 marks each.

e
.

ot of the quadratic equation

‘are drawn to a circle. Prove that
he centre of the circle bisects the

¢m and 3 em. Find the length of
ouches the smaller circle.




Sectiof

which term of the ,
nggalivc term 7

sinA = 2

C
llllllllllllll
Fa

¢ thal
(A) Frove 2008

(B) Prove lhﬂ' SCC A &
»rove thal J5 is an irrat

1-D consists of LOn' :._;.:“_.
' Nis apoi

: tanA]ﬁl.

, questions of 5 marks each.

(A) In a APO

onAPR IS hat ZPQR = 90°.

(B) In the given figure, AA

ADBC are on the
If AD intersects BC at
ar (ﬁABC) B P
ar (ADBC) il

1g out a hemisphere from

A wooden article was ma

each end of a sohid

n the figure. If the height
of radius 3.5 cm, find the

of the cylinder is 10 en
total surface area of the @

ThE mﬂnthiy Exp : 'h

200 families of a Housing

SﬂCiEty IS givﬂﬂ bel D

Monthly
Expenditure

(in%)

500-| 3000-

1000-] 14 .
| -' . q 1 350“

Nllmber of

families

30/4/3
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e median and mean expenditure

Find the value of
on milk.
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section — E consists of three Case Stugd
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(A) A straight hiﬂhwnf' _ o s { of a tower: A man ltlﬂdil:}
4 - | L | ¥ “

g:ptr’:::;m zll"t:!h;' ' ver obsc rvc“ﬂlﬁw{:ﬂﬂﬂf the

i are apPICUT L ihe same side of

tower. If one car is exae

IR (he other O
the tower, find the di the 0

(the two CArs. (use J3 = 1.73)

iy, the angle of elevation of the

(B) From the top of a 7 m | |
angle of depression of its foot

top of a cable tower is 60°
is 30", Determine the height of

SECTIO)|

ywcer.

ised que '
development authority of

Governing council of a local
5 playground on the top of a

Dehradun decided to build an advent
hill, which will have adequate space

5

-
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- 14 Units
After survey, it was decided to build rectangular playground, with a
semi-circular area allotted for uu”w. at one end of the playground.
The length and breadth of the rectangular playground are 14 units and
7 units, respectively. There are two quadrants of radius 2 units on one

side for special seats. 1

Based on the above information, answer the following questions :
(i) What is the total perimeter of the parking area ?

(i) (a) Whatis the total area of parking and the two quadrants ?

o8

(b) What is the ratio ofliml of playground to the area of

parking area ?

(iii) Find the cost of fencing the playground and parking area at the

rate of T 2 per unit.
/3'/ Two schools ‘P’ and ‘Q’ decided to award prizes

to their students for two games of Hockey ¥ x per
student and Cricket ¥ y per student. School ‘P’
decided to award a total of ¥ 9,500 for the two
games to 5 and 4 students respectively; while
school ‘Q’ decided to award T 7,370 for the two
games to 4 and 3 students respectively.

13

stions of 4 marks each.
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Based on the given infe

(i) Represent the foll

and v). ] ﬂ

(i) (a) Whatistheipr
o

: ons :
the followng fl‘-‘_“““
b0 algebraically (in terms O£ X

| :.'-" key ?
from two games ?
Jagdish has a field whic}
AQC. He wants to leave |
the field for growing whe

‘ jangle
ape of a right angled triang
i of a square PQRS inside
aining for growing vegetables

(as shown 1_n_t_he ﬁm * re is a pole marked as O.
E" —
I e T
e 1
= | A -
m— I | |
| 3 e
| - |.* R : .‘ - i ———— |, -
B 1 )|
e e i R———t——t—
B " : LI
|| . | \
B
' : - — __._..1
ol
- X
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swer the following questions :
tes of P are (200, 0) and of Q are
re, what are the coordinates of R

Based on the above ug for
(i) Taking O as origin
(200, 0). PQRS b

and S ? .

: o
(i) (a) What is the
W'

e PQRS ?

igonal PR in square PQRS ?

(b) What is the _
\ o K:1, what is the value of K, where

(iii) If S divides CA
point A is (200,

S R




